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¼
ωOA ωAB ωBC ωFC ωDB ωDE½
−4 5 4 − −4 − ¾QSTZQ[\ ¿\ZTSYÀÁ
− 4 4 −6 −3 − ¾QSYÂ ÃYÄQZ\ÅÆ
−27 −10 18 − −27 − ¾ÇSÈÀÂQ[\ XmTÂYÀÉ
− −3 3 − −1 3 Ê \SR\m Ë\ZTRÌ
− 63 36 − −28 28 ÊÇÍ TYÂ VZTÄm\ÂRSÎ
−13 −3 78 − −13 −

XQ[\ZÈ Ê \ÂYZÏ
− 0 8 − −1 −1

XÇZYÄQ[ VZTÄmTÅÐ
− 8 −20 5 0 −

cTÑYÂ ¿Z\RYmZ\[Ò
−9 4 36 − 9 −

^\Ä\SQ[ ÓÔ\ÂYmZ\[½Õ
− 3 0 − 5 5

^\ÖTRQ[ ×QÖ\Â½½
− 6 0 7 7 −

^QSR\mQ[ Ê TÂYm½Á
−8 −5 −2 − −8 − Ø[mÀÂÂYÄQ[\ ¿\S[\S\½Æ
− −1 −4 − 4 −8 ØZYÙTSTÂÄQ ÚSQmZ\[½É
−12 −4 −12 − 12 − ØÛTÂÜÍT[ ×QÖ\Â½Ì
− −12 −10 10 5 −

PSÜÝQ[ VSÔÞÖ½Î
−12 −1 −18 − 12 −

bTSÑT ÓTSÝTÅ½Ï
7 2 −14 − 7 − ß\àÄYT[ ^ \ÝQÖTR½Ð
− 6 15 −15 0 − ßTàZQ[ ÓÔTÛ\Â½Ò
− −2 −6 − 0 0 áÇSQ[\ âZYÀ
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